Student Handout 6: Elasticity Analysis of Population Growth Rate of the Invasive Lespedeza cuneata
Your name:____________________________________________

Provide brief answers to the following questions.
1.) Based on the results of the elasticity analysis, what vital rate (specific transition or reproduction of specific stage class) is population growth rate most sensitive to or rather, what vital rate contributes most to λ?

2.) Recall: the small to medium transition was affected by herbivory. What is the elasticity of this transition? Is it high or low? 

3.) How does your hypotheses from question 3 on handout 5 relate to results from the elasticity analysis? (Use your responses to questions 1 and 2 above to help answer this question.)
4.) Based on your elasticity analysis, which vital rates should managers focus on if they want to reduce the population growth rate of Lespedeza cuneata?  Give some suggestions for how this might be accomplished.
























